
REPAIR SHEET
BRAND 

RYOBI
DESCRIPTION

18 Volt Pole Hedge TrimmerMODEL NO.

P26010VNM
MFG. NO.

108683001

TTI OUTDOOR POWER EQUIPMENT, INC.	
P.O. Box 1288, Anderson, SC 29622    1-800-525-2579    www.ryobitools.com 	 1-20-22 (Rev:03)

The model number and manufacturing location will be found on a label attached to the product. Always mention this information in all communications regarding this product and when ordering parts.



2

P26010VNM

1

24

16

17

22
28

28

19

18 20

21

22

1

1

15

1

4

9

2

6

6
12

12

32

32

3

29
31

10

30

7

8

3

5

3

11
13

26

27

25

23
14



3

P26010VNM

PARTS LIST

KEY NO. PART NO. DESCRIPTION QTY.

18 694143001 Lock Spring 1

19 679055008 Switch Trigger Spring 1

20 541725001 Lock Off 1

21 541929002 Rear Trigger 1

22 205638001 Rear Handle Assembly (Inc. Key No. 28) 1

23 316769001 Clamp Assembly  1

24  205639001 Lower Pole Assembly 1

25 318081001 Pole Hedge Trimmer Handle 1

26 941263117 QR Label 1

27 941851103 Icon Label 1

28 941588712 RYOBI Logo Label (Handle) 2

29 941263201 Data Label 1

30 941263042 Icon Warning Danger Label (EN/FR) 1

31 941263043 Warning Label (SP) 1

32 940705490 RYOBI Logo Label (Motor Housing) 2

Not Shown:

998000651 Operator’s Manual

KEY NO. PART NO. DESCRIPTION QTY.

1 661817001 Screw (M4 x 13.5 mm, T15 Torx Pan Hd.) 28

2 316912001 Motor and Pinion Assembly 1

3 670914001 Washer (ID6.2 x OD11 x 0.3t) 3

4 205636001 Blade Assembly  1

5 670704001 Retaining Ring 1

6 205635001 Gear Box W/Cover Asembly 1

7 610114001 Center Gear 1

8 660137001 Screw (M4 x 12 mm) 2

9 525406007 Scabbard  1

10 671099001 Spring Pin  1

11 662364001 Screw (M4 x 8 mm, T15 Torx Pan Hd.) 2

12 205637001 Motor Housing Assembly (Inc. Key Nos. 29-32) 1

13 523001003 Strain Relief Plate 1

14 308319004 Harness Assembly 1

15 310980006 Middle Pole Assembly (Inc. Key Nos. 26-27) 1

16 634052001 Shoulder Strap Hook 1

17 660960002 Screw (M4 x 8.5 mm, T10 Torx Pan Hd.) 1



4

P26010VNM

WIRING DIAGRAM

MOTOR

BATTERY CONTACT
PLATE

SIGNAL
SWITCH

RED

BLACK

REDBLACK


